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A0l
Recall, select
Question 1 & _ App@oé & U S)AI;(i)I:I)’s Spag Total
communicate
K&U
1(a)(i) 1 1
1(a)(ii) 2 2 4
1(a)(iii) 1 1
1(a)(iv) 2 2
1(b)(0) 1 1
1(b)(ii) 2 2
1(b)(iii) 2 2
1(b)(iv) 6 3 9
1(c)(i) 2 2
1(c)(ii) 1 3 4
Total 12 8 5 3 28
A0l
Recall, select
Question 2 & _ App@oé & U S'?((i)l?s Spag Total
communicate
K&U
2(a)(i) 1 1
2(a)(ii) 1 1
2(a)(iii) 4 4
2(b)(1) 1 1
2(b)(ii) 2 2 4
2(b)(iii) 2 2
2(b)(iv) 6 3 9
2(c)(i) 2 2
2(c)(ii) 4 4
Total 12 8 5 3 28
A01
Recall, select
Question 3 & _ App@o}g & U S'?((i)lcl))s Spag Total
communicate
K&U
3(@)() 1 1
3(a)(ii) 2 2
3(a)(iii) 1 1 2
3(@)(iv) 2 2
3(b) (i) 4 4
3(b)(ii) 4 2 3 9
3(b)(iii) 1 1
3(b)(iv) 1 1 2
3(c)(i) 1 1
3(c)(ii) 4 4
Total 12 8 5 3 28
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A01
Recall, select
. ; A02 A03
Question 4 & _ Apply K & U Skills Spag Total
communicate
K&U
4(a)(i) 3 3
4(a)(ii) 2 2
4(b)(i) 2 2 4
4(b)(ii) 2 2
4(b)(iii) 2 2
4(c)(i) 1 1
4(c)(ii) 1 1
4(c)(iii) 2 2
4(d)(i) 2 2
4(d)(ii) 6 3 9
Total 12 8 5 3 28
A01
Recall, select
. ; A02 A03
Question 5 & _ Apply K & U Skills Spag Total
communicate
K&U
5(@)(i) 2 1 3
5(a)(ii) 1 1
5(a)(iii) 1 1
5(a) (iv) 2 2
5(@)(v) 2 2
5(a)(vi) 2 2
5(b)(i) 1 1
5(b)(ii) 1 1
5(b)(iii) 6 3 9
5(c)(i) 2 2
5(c)(ii) 1 3 4
Total 12 8 5 3 28
A01
Recall, select
. ! AO02 A03
Question 6 & _ Apply K & U Skills Spag Total
communicate
K&U
6(a) 2 1 3
6(b)(1) 4 2 3 9
6(b)(ii) 2 2
6(b)(iii) 2 2 4
6(c)(i) 2 2
6(c)(ii) 2 2
6(d)(i) 2 2
6(d)(ii) 2 2 4
Total 12 8 5 3 28






